Population Questions

[image: ]June 2009
(a) Figure 6 shows population migration change in countries in the European Union (EU) between 2004 and 2005.
(i) Describe the pattern shown in Figure 6.
............................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................. (4 marks)

(ii) Suggest reasons for this pattern.
............................................................... ...........................................................................................
.......................................................................................... ................................................................
..................................................................................................................... .....................................
................................................................................................................................ ..........................
................................................................................................................................ ..........................
................................................................................................................................ ..........................
................................................................................................................................ ..........................
................................................................................................................................ ..........................
................................................................................................................................ ..........................
[image: ]............................................................................................................................................ (5 marks)

(b) Figure 7a shows the population structure of the UK in 2001, whilst Figure 7b shows the age of registered Eastern European workers in the UK in June 2006. 
Describe the population structure shown in Figure 7a and outline the likely impact of the Eastern European workers registered in the UK on this population structure.
................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................

....................................................................................................................................................................................................................................................................................................................
......................................................................................................................................... (6 marks)


(d) Outline and comment on the economic and political consequences of population change. (15 marks)


January 2010
(a) Distinguish between birth rate and fertility rate.
...................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................(4 marks)
[image: ]
(b) Study Figure 8 which gives information on infant mortality rate and GDP per capita for selected countries in 2005. Outline the usefulness of infant mortality rate as an indicator of development.

.......................................................................................................................................................................................................................................................................................... ................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................
............................................................................................................................................................(4 marks)

(d) For any two of the following types of area, summarise the contrasts between them and explain the implications of these contrasts for social welfare: (15 marks)
 *inner city	 *suburban	*rural–urban fringe 	*rural settlement

June 2010

(a) Study Figure 5 which shows a partly completed diagram of the demographic transition model. Complete Figure 5 by adding appropriate labels to the diagram. (4 marks)
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(b) Study Figure 6 which shows birth rates, death rates and total population for Malaysia from 1960 to 2007. To what extent does Malaysia fit the demographic transition model for the time period shown in Figure 6?
[image: ]










........................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................(6 marks)

(c) Describe how the population structure of a country in stage 2 of the demographic transition model is different from that of a country in stage 4.
........................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................
...................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................(5 marks)

(d) Comment on the impact of different population structures on the balance between population and resources. (15 mark)











January 2011
Study Figure 9 which shows population density in China.
Figure 9
[image: ]
5 (a) Describe the pattern shown in Figure 9.
........................................................................................................................................................................................................................................................................................................................................................ ........................................................................................................................................................................................................................................................................................................................................................
...................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................(3 marks)

(b) Explain why the population density of an area may change over time.

........................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................
...................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................(5 marks)







(c) Study Figures 10a and 10b which show China's population structure in 2000 and 2050 (projected).
China introduced a population control policy in 1979.
[image: ]

To what extent do Figures 10a and 10b suggest that China's population policy will allow sustainable development?

........................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................
........................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................
...................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................(7 marks)

(d)  “For better and for worse?” Discuss how population change can affect the character of rural and urban areas. (15 marks)











June 2011

(a) Study Figure 5 which shows information for four different areas of settlement in four wards of Leeds Metropolitan District in 2008/2009
[image: ]

5 (a) (i) Choose two of the settlement areas shown in Figure 5. Using Figure 5 only, contrast the characteristics of the two areas that you have chosen.
Areas chosen ....................................................................................................................................................
........................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................
...................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................(4 marks)

(a) (ii) For two areas of settlement that you have studied, describe how the provision of services is different.
.................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................... ........................................................................................................................................................................................................................................................................................................................................................ ....................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................
...................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................(5 marks)

5 (b) Study Figure 6 which is a newspaper extract dated 28 August 2009, about population change in the United Kingdom.
[image: ]

Using Figure 6, describe and comment on the causes of recent population change in the United Kingdom

.................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................... ........................................................................................................................................................................................................................................................................................................................................................ .................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................... ........................................................................................................................................................................................................................................................................................................................................................ ....................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................
...................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................(6 marks)

(c) Discuss the strengths and weaknesses of the demographic transition model (15 marks)






Jan 2012
(a) Study Figures 9a–9d which show photographs of four different settlement areas
[image: ]

[image: ]
Choose two areas shown in Figures 9a –9d. Using only the photographs, contrast  the characteristics of the two settlement areas chosen.
Areas chosen .................................................... and ....................................................
........................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................
...................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................(4 marks)

(a) (ii) Suggest reasons for the contrasts described in (a)(i)
...........................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................(4 marks)
(b) (i) Define 'infant mortality rate'.

............................................................................................................................................................................
...................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................(2 marks)

(ii) Study Figure 10 which shows selected population indicators for countries at  different stages of development.
[image: ]
Comment on the varying rates of natural change shown in Figure 10
........................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................
...................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................(5 marks)


(c) Examine how population structure changes at different stages of the demographic transition. (15 marks)


June 2012

(a) Distinguish between natural and migration population change

....................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................
...................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................(3 marks)



(b) Figure 9 shows natural population change and net migration in the UK population between 1991 and 2006.

[image: ]


Describe and comment on trends shown in Figure 9
........................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................
...................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................(5 marks)

(b) With reference to a case study, assess how successful one country has been in managing population change.
........................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................ ........................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................ .........................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................(7 marks)

(c) “An ageing population can bring economic, political and social advantages as well as disadvantages.” Discuss this view (15 marks)

January 2013
(a) Study Figure 6 which shows the population structure of four countries.
[image: ]
Outline contrasts in population structure shown in Figure 6. 
....................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................
...................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................(3 marks)






(b) (i) Population structure changes throughout the stages of the demographic transition model. Draw a sketch population pyramid to show the population structure of a country in stage 2 of the demographic transition model
[image: ]
(b) (ii) Figure 7 shows a population pyramid for people aged up to 85 in England and Wales in 2010.
[image: ]




‘The England and Wales population pyramid displayed the characteristics of a country in stage 4 until 2001, but the evidence of this stage is less clear in 2010.’ Provide evidence from Figure 7 for this statement.
....................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................
...................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................(3 marks)

(c) Discuss the implications of an ageing population.

.................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................... ........................................................................................................................................................................................................................................................................................................................................................ .................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................... ........................................................................................................................................................................................................................................................................................................................................................ ....................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................
...................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................(6 marks)

[bookmark: _GoBack]
(d) Discuss the usefulness of at least two population measures (such as birth rate, death rate, fertility rate, infant mortality rate, life expectancy, migration rate and population density) as indicators of development. (15 marks)
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5 (b)  Study Figure 8 which gives information on infant mortality rate and GOP per capita for
B selected countries in 2005
Figure 8
Infant mortality rate ;
Country (per 1000 live births GDP per capita
(us$)
per year)
Eobwana 57 2387
Erazil 31 5402
China 23 5757
India 56 3452
Japan 3 31267
Malaysia 70 10862
Sudan 52 2083
Thailand 18 5677
United Kingdom 5 33238
United States 5 41890
5 (o)  Outine the usefuiness of infant mortality rate as an indicator of development
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5(a)  Study Figure §which shows a parlly completed diagram of the demographic transition
model

Figure 5
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5(b)  Study Figure 6 which shows birth rates, death rates and total population for Malaysia
from 1960 to 2007

Figure 6
Date Birth rate Death rate Total population
(per 1000 per year) | (per 1000 per year) (millions)
1960 a7 20 8
1970 44 16 10
1980 % 13 4
1990 37 11 18
2000 o7 5 23
2007 22 5 25

5(b)  Towhat extent does Malaysia fit the demographic transition model for the time period
shown in Figure 67
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5(a)

5 (a)

Study Figure 9 which shows population density in China.

Figure 9
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5(c)  Study Figures 10a and 10b which show China's population structure in 2000 and
2050 (projected).
China introduced a population control policy in 1979.

Figure 10a Figure 10b
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5 POPULATION CHANGE

5(a)  Study Figure 5 which shows information for four different areas of setlement in four
wards of Leeds Metropolitan District in 2008/2009.

Figure 5
Settlement Area | Innercity | Suburban | Ruralurban Rural
fringe settlement
Ward | Burmantofts | Moortown | Garforthand | Harewood
Measure and Richmond Swillington
Hill
% households.
daiming council m 17 16 8
benefits
% population of
working age
claiming Jobseeker's - . 12 08
Allowance
% of area within ward
that s in the most 81 7 0 0
deprived 10% nationally

5(a) (i) Choose two of the settlement areas shown in Figure 5.

Using Figure 5 only, contrast the characteristics of the two areas that you have
chosen.

Areas chosen
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5 (b)

Study Figure 6 which is a newspaper extract dated 28 August 2009, about population

change in the United Kingdom.

Figure 6

NEW BABY BOOM PUSHES UK
POPULATION ABOVE 61 MILLION FOR
THE FIRST TIME

A baby boom fuelled by rising fertiity rates
and immigration has pushed the
population of the United Kingdom to more
than 61 million for the first time. More than
a quarter of a million children were born
last year as fertiity rates reached the
highest levels in a generation, figures from
the Office for National Stafistics (ONS)
showed.

For the first time in almost a decade,
population change caused by the number
of births and deaths overtook immigration
as the main driver of the rising numbers in
the country.

Yet despite the surge in fertilty rates, the
country’s overall population would stil be
shrinking i it were not for immigration, the
ONS said. Births are increasing because
women born in Britain are having more
babies and also because the number of
women of child-bearing age has risen by
20 per cent because of immigration since
2001.

The ONS said no single reason could be
given for the changes in fertiity but
suggested that it could be due to a baby
boom among women in their 30s.

Better support for families including tax
credits and more generous maternity leave
may also be a factor behind the increase,
the ONS said.

© The Times 08.2009

Using Figure 6, describe and comment on the causes of recent population change in

the United Kingdom.

= =
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5 (b) (i) Study Figure 10 which shows selected population indicators for counties at
different stages of development.

Figure 10
Country | Birthrate | Deathrate | Natural change | Infant mortality rate
UK 13 9 04 46
Russia 12 15 -03 90
Brazil 17 6 11 24.0
China 12 7 05 210
India 2 7 16 55.0
Nigeria 41 15 26 750

Comment on the varying rates of natural change shown in Figure 10.
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5(b)  Figure 9 shows natural population change and net migration in the UK population
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between 1991 and 2006.
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Section B

Answer Question 5 and one other question from this section

5 (a)

Population Change

Study Figure 6 which shows the population structure of four countries.

Figure 6
Country Population Population Population
aged <15 aged 15-65 aged >65
(%) (%) (%)
Kenya 42 55 3
India 32 63 5
United Kingdom 18 66 16
Germany 14 66 20

Outline contrasts in population structure shown in Figure 6
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5 (b) (ii)

stage 2 of the demographic transition model

(3 marks)

Figure 7 shows a population pyramid for people aged up to 85 in England and

‘Wales in 2010.

Figure 7
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‘Wales in 2010.

5 (b) (i) Figure 7 shows a population pyramid for people aged up to 85 in England and

Figure 7
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